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fEb: IR ERE, ATRENERCOK.
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fEEdiT: PPN NECESRIRE N EN AR IR N, ORI NG @ IRAER /N @F
BR/NE @ZARTEIR NG i OFI@

3E%E: C
fidihr: % 0270, 8 X —ILFEE: 0.2X8

4.%27%: D
fi##r: A.45+X=80 B.X—20=65 C.9X=27

5.%:7213: B
il ¥T: A.X=5, B.X=8, C.X=13.6, D.X=-1.9

6.5%: C
. 25 DR BEE S L THIERZE, ILTHFEX Y, BABEESH N 3x %, B 3x-x=25.

75%: C
fidthr: —ILWGER T 12.6 Wi, FZE—RAeE 4, FIE 12.6+-4=3.15 %, B 3+1=4 IX.

8EE: A
it AR 4% 2=8, EOMHEAN 2X3=6, FHQKHEHIN (3+5) X3+2=12,
K@M FA 3X2+2=3, @RI N 2 X8+2=8, HILK A 5E@mHAH%, & A.

9.%4%: B

M. 64-+—16=4 K

10.%%: B

AT : SIS AR LA R — KT, TR RZIN 2 X 6=12 *F 5 K, 18 I Bl ik
P KY) s FEITEAK, FrUABEASRIENH AL N 17 “SF 5 Bk, kT 13 W EK, OmimisA
F) 35 A1 40 V- JHE K, Rl K4y 20 V5 JHE KA HE.
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11.5 %, (3,1); D

ftir: C RAL T =, BT, FHERRN (3, 1 BIBIENAEN (7, 2), B
D Ai.

124 %: (1) 9a+3
(2) 60
fibir: BORAE o Ju/3¢, %91 3 J0/30, ERZIML T 9 SCBAE, 167 9a 7u, 1 3%1EH



T 376, — 3% 9a+3 It a=8 I, BIEIRAE N 8 Ju/30, W) 12 SCEIRAL N ER N 8 X 12=96
TG, 12 ZEEINEHN 3X12=36 G, £1E T 96-36=60 Jr.

1324 2. 160+2a ; 80a
fiibr: KHEREEK N 2 (a+80), Bf 160+2a; [HiF N 80a.

145 %: 25
fitFT: 1.5-0.06=25

154 %: 3.79
fi#ffT: 94.85X0.04=3.794, RPN/ NG AN 3.79.

16. &%: 27
ffibT: 60+—2.2~ 27

17.5%: 4
. 6X2-+-3=4

1845 %: 96 ; 48
fifthT: “PATIUILIE BCFE 5K 7 ABCD %555, RILIIARAHSE N 96 “F 7 JH K, =MIE
BCE MR AT UL TE AR i — 2, T 96+-2=48 ~F-J7 JE K.

19.% 2. 780 ; 156
fiftbT: (45+85) X12=780 “F- /7K, 780-+5=156 Ff.

20%5%: 6
BN BHSCER4Y 1 2 N A, 2X2+2=2, 4X2+2=4, 2+4=6 F-J7JE K.

—=. fREH
21.5%: (1) 48 (2202 (3) 0.045 (4) 0.5 (5) 0.9 (6) 4
fifthT: (1) 0.6%X8=4.8 (2) 0.4X0.5=0.2 (3) 0.5X0.09=0.045
(4) 4+-8=05 ~ (5) 7.2+8=09  (6) 2.8+0.7=4

2252, (1) 42.08 (2) 26.144 (3) 0.36 (4) 420
fidthr: (1) 7.9X5.2=42.08 (2) 3.04X8.6=26.144 (3) 1.62+4.5=0.36
(4) 75.6 +0.18=420

235 %: (1) 0.8; (2) 155
fiEfr: (L
5+2.5x0.4
=2x0.4
=0.8



(2)
15.5x6.7+3.3x15.5
=15.5x(6.7 +3.3)
=15.5x10
=155

245 %, (1) X=58.8 (2) X=29

25.
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27.

28.

29.

30.

fiEHT: (1) x+7=8.4
X+7X7=84X7
X=58.8
(2) 3x-5=82
3x-5+5=82+5
3X=87
3x+3=87+3
X=29
%% (1) 3X=48
(2) 4X+360=840
(3) 40+2X=138
fiehr: (1 =AM F—3L48 5, R 3x=48
(2) HERTHI, 4x+360=840
(3) HEATHI, 20X 2+2x=138, E 40+2x=138

. 7.82
fitbr: 4.6%x1.7=7.82 (JiJG)
EE: 8.1
fifthfr: (100—35.2) +8=8.1 (JL)
BE. 4
fifttfr: 2+ (0.3+0.2) =4 (Z5D
30
fiE b -
fils BBAEMT X H481E.
2X+16=76
X=30
% BAMT 30 24kt

B 6450
fiibT: 60X 25X4.3=6450 (JT)



